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PAPER-II

ECONOMICS
Signature and Name of Invigilator
1. (Signature) OMR Sheet No. & oo
{Name) {To be filled by the Candidate)
2. (Signature) Roll No.
(Name) {In figures as per admission card)
RollNo.

E10 1 HE

Time : 1/, hours]

(In words)

[Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

Instructions for the Candidates

1. Write vour roll number in the space provided on the top of | 1.
this page. 2.

2. This paper consists of fifty multiple-choice type of | 3.
questions.

3. Atthe commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the

paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an
open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/ questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct hooklet from the invigilator within the
period of 5 minutes. Afterwards, neither the
Question Booklet will be replaced nor any extra
time will be given.

(iif) After this verification is over, the OMR Sheet Number | ,
should be entered on this Test Booklet. '

4. Each item has four alternative responses marked (A), (B),
{C)and (D). Youhave to darken the circle as indicated below
on the correct response against each item.

Example :

where (C) is the correct response. 5.

5. Your responses to the items are to be indicated in the OMR
Sheet given inside the Paper I Booklet only. If vou mark
at any place other thanin the ¢irclein the OMR Sheet, it will

not be evaluated. 6.
6. Readinstructions given inside carefully. 7.
7. Rough Work is to be done in the end of this booklet. ]
8. If you write your Name, Roll Number, Phone Number or

put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, you will render vourself liable to
disqualification.

9. You have to return the test question booklet and Original
OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. You are, however, allowed to carry
duplicate copy of OMR Sheet on conclusion of examination. | 10
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ECONOMICS

Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)

Q. Nos. 1 - 10 :

marks. Attempt all the questions.

Read the following

questions and find correct answer from the
choices given below these questions.

1.

Marginal Revenue of a Monopoly firm

is less than the price. Because :

(A) Demand curve has a positive
slope.

(B) Demand curve has a negative
slope.

(C) Monopolist incurs losses.

(D) Monopolist is in equilibrium.

For an inferior goods, income

consumption curve and Engles curves

are

(A) Positively sloped

(B) Negatively sloped

(C) Are the same

(D) Income consumption curve
positively sloped and the Engles
curve is negatively sloped

The classical economists focussed on
the role of money as

(A) medium of exchange

(B) medium of distribution

(C) wealth

(D) link between present and future

If the demand for money is perfectly

%)nterest inelastic, the LM schedule will
e

(A) Upward sloping

(B) Downward sloping

(C) Horizontal line

(D) Vertical line

Harrod-Domar model of economic

growth is based on the equilibrium

between

(A) Income generation and
productive capacity creation

(B) Equilibrium between income and
consumption

(C) Equilibrium between savings and
investment

(D) None of the above

In calculating the buoyancy of a tax,
we consider

(A) Only discretionary changes

(B) Only automatic changes

(C) Both (A) and (B)

(D) Neither (A) nor (B)

Which of the following measures of
the central tendency suits the data best
if the objective is to assess the
distribution of values ?

(A) Arithmetic mean
(B) Mode

(C) Median

(D) Kurtosis

Comparative  cost advantage in
Ricardo’s international trade theory
arises due to

(A) Labour cost differences
(B) Differences in factor endowment

(C) Factor abundance defined in
terms of factor prices

(D) All of the above

In India, in 2004-05 the number of
poor persons below poverty line was
the highest in the State of

(A) Bihar

(B) Uttar Pradesh
(C) Madhya Pradesh
(D) Rajasthan

Which of the following is not a
component of Bharat Nirman ?

(A) Rural housing

(B) Rural electrification
(C) Agro-based industries
(D) Rural telephony
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Q. Nos. 11 - 20 :

Read the following

questions and find out correct answer from
the codes given below these questions.

11.

12.

13.

14.

15.

A point of ‘Kink’
demand curve indicates
L Price rigidity

II.  Quantity rigidity
III.  Price flexibility
IV. Quantity flexibility
Codes :

(A) Tand II are correct.
(B) II and III are correct.
(C) I and IV are correct.
(D) TIand]IV are correct.

Improvement in the BOP deficit may
be effected through

L Import control

II.  Export promotion

III. Foreign exchange control
IV. Devaluation

Codes :

(A) TIand II are correct.

(B) L II, III and IV are correct.
(C) 1II and III are correct.

(D) I, II and III are correct.

The problem relating to burden of
public debt has been dealt by
L A.P. Learner

II. E.D.Domar

III. A.C. Pigou

IV. A.H. Henson

Codes :

(A) TIand II are correct.

(B) II and III are correct.
(C) TIand]IV are correct.
(D) II and III are correct.

Fiscal policy relates to the Government
decision in respect of

L Taxation

II. Government spending
III. Government borrowing
IV. Public Debt

Codes :

(A) III and IV are correct.
(B) II, I and 1V are correct.
(C) IandII are correct.

(D) All the above are correct.

HDI is entrusted with reference to :
L Life expectancy at birth

II.  Real GDP/per capita

III. Infant mortality

IV. Morbidity

Codes :

(A) TandII are correct.

(B) II and III are correct.

(C) 1III and IV are correct.

(D) All the above

in the kinked

20.

The doctrine of unbalanced growth
was propounded by

I.  Hirschman

II. Robert Solow

III. Singer

IV. Ragnar Nurkse

Codes :

(A) TIand II are correct.
(B) II and III are correct.
(C) 1III and IV are correct.
(D) TIand III are correct.

Harrod-Domar model of economic
growth is based upon

I.  Warranted growth rate
II. Investment growth rate
III. Productivity growth rate
IV. Natural growth rate
Codes :

(A) Iand II are correct.
(B) 1II and III are correct.
(C) III and IV are correct.
(D) Tand 1V are correct.

In Keynesian system speculative

demand for money arises because of

I.  Uncertainty of future interest rates

II. Unexpected expenditures

III. To bridge the gap between income
and eventual expenditure

IV. Relationship between changes in
the interest rates and bond prices

Codes :

(A) Tand III are correct.

(B) Tand]IV are correct.

(C) 1II and III are correct.

(D) III and IV are correct.

According to Milton Friedman Theory
of permanent component of
consumption-expenditure depends on

I.  Transitory income alone

II. Transitory and permanent income
III. Permanent income alone

IV. Windfall gains

Codes :

(A) TandII are correct.

(B) Iand II are correct.

(C) IIand IV are correct.

(D) Only III is correct.

The Planning Commission of India has
recently made announcement regarding
Poverty Line :

I. 42 per capita per day in urban area
II. 3 26 per capita per day in rural area
II. ¥ 32 per capita per day in urban area
IV. % 32 per capita per day in rural area
Codes :

(A) TandII are correct.

(B) Iand II are correct.

(C) 1II and III are correct.

(D) III and IV are correct.
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Q. Nos. 21 - 30 :

Read the following

questions of given Assertions with their
Reasoning and find correct answer from the
codes given below these questions.

21.

22,

Assertion (A) : Giffin’s paradox rarely
occurs in the real world.

Reason (R) Inferior goods are
narrowly defined for which
suitable substitutes are available.

Codes :

(A) Both (A) and (R) are correct and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are correct and
(R) is not the correct explanation

of (A).

(©) (A) is correct, but (R) is
incorrect.

(D) (A) 1is incorrect, but (R) is
correct.

Assertion (A) : According to the Life
Cycle Theory of consumption, an
individual level of consumption
depends not just on current
income but also on long run
expected earnings.

Reason (R) : Individuals are assumed
to plan a pattern of expenditure
based on expected earnings over
life time.

Codes :
(A) (A)is true, but (R) is false.
(B) Both (A) and (R) are false.

(C©) (A) is not correct, but (R) is
correct.

(D) Both (A) and (R) are correct and
(R) is correct explanation of (A).

23.

24.

25.

Assertion (A) : Effective demand can be
increased by more equitable
distribution of wealth.

Reason (R) : Thirty or forty entities
with income averaging between
1 lakh and 5 lakhs would create
much more effective demand
than a single entity having
income of 10 lakhs a year.

Codes :

(A) Both (A) and (R) are correct and
(R) is not the correct explanation
of (A).

(B) Both (A) and (R) are correct and
(R) is the correct explanation of

(A).

(©) (A) is correct, but (R) is
incorrect.

(D) (A) is incorrect, but (R) is
correct.

Assertion (A) : During the period
2004-05 to 2007-08 fiscal
consolidation process was

witnessed in India.

Reason (R) : There was buoyancy in
tax revenue during this period.

Codes :

(A) Both (A) and (R) are correct and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are correct and
(R) is not the correct explanation

of (A).

(©) (A) 1is correct, but (R) 1is
incorrect.

(D) (A) 1is incorrect, but (R) is
correct.

Assertion (A) : K/L ratio will adjust
through time in the direction of
equilibrium ratio.

Reason (R) : Because the technical co-
efficient of production are
variable.

Codes :

(A) Both (A) and (R) are correct and
(R) is not the correct explanation
of (A).

(B) Both (A) and (R) are correct and
(R) is the correct explanation of
(A).

(©) (A)is correct, but (R) is incorrect.

(D) (A) is incorrect, but (R) is
correct.
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26.

27.

Assertion (A) : Financial inclusion is
desirable to help weaker sections
of society in the country.

Reason (R) : Investment activity needs
to be promoted to facilitate
access to development benefits to
masses.

Codes :

(A) Both (A) and (R) are correct and
(R) is not the correct explanation
of (A).

(B) Both (A) and (R) are correct and
(R) is the correct explanation of

(A).

(C©) (A) is not correct, but (R) is
correct.

(D) (A) is correct, but (R) is not
correct.

Assertion (A) : Stationary state is the
end of the process of capital
formation.

Reason (R) Scarcity of natural
resources as also capital leads the
economy to the stationary state.

Codes :

(A) Both (A) and (R) are correct and
(R) is not the correct explanation
of (A).

(B) Both (A) and (R) are correct and
(R) is the correct explanation of
(A).

(C©) (A) is correct, but (R) is not
correct.

(D) (A) is not correct, but (R) is
correct.

28.

29.

30.

Assertion (A) : Investment has also a
supply effect.

Reason (R) : Because it raises capacity
to produce.

Codes :

(A) Both (A) and (R) are correct and
(R) is not the correct explanation
of (A).

(B) Both (A) and (R) are correct and
(R) is the correct explanation of

(A).

(C©) (A) is correct, but (R) is not
correct.

(D) (A) is not correct, but (R) is
correct.

Assertion (A) : Gold standard was
finally given up after the Second
World War.

Reason (R) : Countries had different
rates of inflation.

Codes :

(A) Both (A) and (R) are correct and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are correct and
(R) is not correct explanation of

(A).

(C©) (A) is correct, but (R) is not
correct.

(D) (A) is not correct, but (R) is
correct.

Assertion (A) Disguised
unemployment is present in

Indian agriculture.

Reason (R) : Marginal productivity of
agriculture is close to zero.

Codes :

(A) Both (A) and (R) are correct and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are correct and
(R) is not the correct explanation

of (A).

(C©) (A) is correct, but (R) is not
correct.

(D) (A) is not correct, but (R) is
correct.
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26.

AP (A) : < H TN & B a1
T & T AT STufeT § |

T (R) : 3T 3TEHT T oI & T ol
T & forw faer fopanett & Jem
T AT € |

(A) (A) 3 (R) S el &, T (A)
(R) T&T TIIHIT T8 & |

(B) (A) 3 (R) I Wel € 3T (A) &
(R) &l TR T |

(C) (A) 7eTd &, W] (R) T&l & |
(D) (A) W&l &, W] (R) Tod & |

Afe (A) : FeRdT i feafd Ot fHutor
I UfsHAT T 3T & |

AP (R) : VIPIAH AT Ue UST BT BT
fordlt aelegere sl e i g9
ool & |

(A) (A) 3T (R) S el &, T (A)
(R) T&T T T & |

(B) (A) 3 (R) I Wel € 3 (A) T
(R) el TR T |

(C) (A) W& &, W (R) Tod ¢ |
(D) (A) 7TeTd €, W] (R) W&l & |

28.

29.

30.

atfirepem (A) : Tt & gfq wre fHfed
g1

qH (R) : H(H T& SIS &THaT Sl Tl

g

@':
(A) (A) 3R (R) & Tl &, T (A)
(R) T T T € |

(B) (A) 3R (R) SHI W&l & 3R (A) &
(R) T@l W ¢ |

(C) (A) W& W (R) A& |
(D) (A) ToTd &, W= (R) T |

AHU (A) - T SFAd: fgdig fava
TF o I BT a1 74T |

T (R) : 390 H Thifd X f=-fgeT ot |
E 3%

(A) (A) 3T (R) IHT T & 3T (A) H
(R) @l T € |

(B) (A) 3R (R) IH T & W (A) F
(R) Tl TEHT TE T |

(C) (A) T E W (R) AT |
(D) (A) ToTd &, W= (R) T |

AWFHYT (A) : 9IRAE FW H BIH
AU fomm € |

% (R) : P I HHAT SCAGHAT ATHT
AT

3%

(A) (A) 3T (R) IHT W& & 3T (A) H
(R) @l TR T |

(B) (A) 3R (R) 3F T & WA (A) H
(R) Tl TEHT TE ¢ |

(C) (A) & &, W (R) 7ot € |
(D) (A) 7TeTd €, W] (R) T&l & |
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Q. Nos. 31 - 40 :

Read the following

questions and find the correct sequence from
the code given below these questions.

31.

32.

33.

34.

3S.

Arrange the following in chronological
order :

I.  CES production function.

II. Cobb-Douglas production function
III. Tronslog production function

IV. The law of variable proportions
Codes :

(A) L LIv,o @) LIV, I,
O ,ILLar (b) ILILI IV

Consider the following schemes :
L EAS II. TRYSEM
III. JRY IV. RLEGP

The correct chronological sequence of the
launching of these schemes are :

Codes :

(A ILIv, L B) IV, ILILI
O 1IvV,iILLII (D) ILIV,ILI

Arrange the origin of money in a
sequential order

I.  Cheque

II. Metallic money

III. Commodity money

IV. Paper money

Codes :

(A Tv,LuaL,mn B) LILI,IV
© naLILIv,1 (M) ILIV, I

Arrange the following theories in the
chronological order :

I.  Restatement of Quantity Theory
II. Income Theory

III. Quantity Theory

IV. Cash Balance Approach

Select the correct answer from the
given codes :

Codes :
(A) LILIV,II (B) ILLILIV
<O v, Lo () ILIV,ILI

Identify the correct chronological order

of the following classical economists :

(A) Adam Smith, Malthus, Ricardo,
J.S. Mill

(B) Adam Smith, Ricardo, Malthus,
J.S. Mill

(C) Adam Smith, J.S. Mill, Ricardo,
Malthus

(D) Adam Smith, Malthus, J.S. Mill,
Ricardo

36.

37.

38.

39.

40.

The sequencing process of Schumpeter

model of development is

(A) Swarm like Clusters, Innovation,
Bank credit, Breaking circular flow

(B) Breaking circular flow,
Innovation, Bank credit, Swarm
like Clusters

(C) Innovation, Bank credit,
Breaking circular flow, Swarm
like Clusters

(D) Bank credit, Innovation, Swarm like
Clusters, Breaking circular flow

Arrange the following theories in order
in which they appeared :

I.  Comparative Cost Advantage Theory
II. Absolute Cost Advantage Theory
III. Leontief Paradox

IV. Factor Endowment Theory

Codes :

(A LILILIV (B) ILIOLIV,I
O IL LIV, (M) LIV, 1,11

Arrange the stages of economic growth
in a sequential order :

I.  The age of high mass consumption
II. The traditional society

III. The take-off stage

IV. The drive to maturity

Codes :

(A LILIiv,u @) ILIV, L1
(© HOLLILIV (D) ILHOLIV,I

Identify the sequence of implementation
of the following taxes.

Select the correct answer from the
given codes :

I Land Revenue
II.  Sales tax

III. MODVAT
IV. Service tax
Codes :

(A) LILTLIV (B) ILIV, LI
(C) NLILIV,I (D) IV,ILL II

Identify the correct chronology of the

following :

L Fisher’s test of significance of
differences between means of
three or more samples.

II.  Kendal’s partial rank correlation.

III. Gossest’s T test of significance
between means of two samples.

IV. x2 test of goodness of fit of the
curve and randomness of the

sample values.
Codes :
A HILLILIV @B) LILIOLIV
(©) IV, ILI,1 (D) LILIV, I

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click



=i 31-40 U9 i Uiy TE P & AR
TEl A T A BT |

31.

Tr=feiad st FHeRATER AU
[ 9 U 3URT B

II. S - A SR For
[ ZET Scme Held

IV. ORed-RIer St & =

(A) M, I IV, I
(B) 1, v, I, I
C) v, I, I, I
D) 1, WU, I IV

et FiemreT W fommr s

I zuwg

I Z=em

111, %aﬂraﬁ‘

IV. 3R TA T
%ﬁwﬁaﬁmw%ﬂﬁwﬁ

E TR
(A I, IV, 1 I
B) Iv, I, I I
() IV m, 1, 1
(D) v, 1L, 1
ST év‘ scng I HAHT T
I 9% 1
M o g5
I H T
E TR
(A) IV, 1, 0L 0
B) 1 0, I 1V
C) m, I IV, 1
D) 1, 1v, 1, I

Trefetiaa fagTar ot SHIeTshaaR IET
(A) URHET R ST T

B) I

(C) q&crmﬁwm

(D) e AY IINH

U 2t ¥ Tel 3T BT TIT T -

B!

(A) 1, I, IV, II
B) M, I I, IV
(C) v, 1, I, I
(D) 1L, Iv, I, I

TR RNl & Wel HIeTshd ol
LREiE)

(A) @Wwﬁm@ﬁwﬁa
(B) Ueq fawy, Ree), wrew, & U e
(C) UeH foge, & u fiel, Reprel, e
(D) UeH o9, I, & Uy Tyt Rerer

g gt
IV  F gaT

36.

37.

38.

39.

40.

(A) TS GAF e, FaEcH, S T,
T HAE W el
B) qqm CIE obw TAEH, S

(©) Wﬁq@?w aéﬁmw

AT, TS T
(D) éww@r qauaﬁq W =
TeTE T BT
ﬁmﬁ% gl ® 3 ufauRa %
FIATAR SHHEF Elﬁfwz 3T WS F W
ﬂﬁwwmﬁ
L mwﬁq@‘ﬁ
IL. wmwwﬁm‘ﬁ
M. formes faxemme
IV. Sare gerar s
E TR
A L I, I, IV

B) I, Il IV, I
C) 1. I IV, II
Dy L v, I, I
T & faf=T Qo % @ %9

1 TIT HISTT

[ 3= SHEERT SUHITET el
I ORes §Hs

[l 2% 3% 9uH

B) 1, IV. I I

C% m, 1, I, IV

D) 1, I, 1V, 1

fgd Wl 3 o] &4 % HAT i

& H T@d g 98 e | | vE
%2 ¥ Tel I A T

I [T 1L Eoy

111 IV. HT

A LILILIV B) ILIV,I I

;@% IIIIIIVI ;) IVIIIIII

?ﬁ?maﬁ?%aﬁaﬁm%mmﬁr%aﬁa

1L
111 aq@%mmﬁ—am%

V. Ed HT A I ITIRIAT
;%?i{lglzl@a% ORI éo‘ TS

T 2 TRIETT

(A) I, I, I, IV
B) I, I, I, IV
(C) 1v, T, T, I
D) I, I, IV, II
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Q. Nos. 41 - 50 : Match the items given in
List — I with those in List — II and answer the

correct matching option from the codes

given below these questions.

41.

IL.

II1.

IV.

List-1

Behavioural 1.

theory of the
firm

Marginal 2.
productivity
theory of
distribution
Double 3.
criterion  of
welfare
Impossibility 4.
Theorem

Codes :

(A)
(B)
©
D)

42,

IL.

II1.

IV.

I I

N = W N
W W A~ b~

1
2
4
1

List-1

New Classical 1.

Economics

Permanent 2.

Income
Hypothesis

Multiple effect 3.

of Balanced

Budget
New

Keynesian

Economics

Codes :

(A)
(B)
©)
D)

I 1

—_— N B W
N A WA
A= =

List - IT
J.B. Clark

Cyert and

Mark
Kenneth
Arrow

Scitovosky

v

o = W

List — 11
T.H.
Haavelmo
Robert
Lucas

N. Gregory
Mankiw

Milton
Friedman

1Y%

W W = N

43.

44.

45.

List -1

Invisible Hand 1.
2.

Warrier
Knight
PQLI

Codes :

(A)
(B)
©)
D)

—_ NI =
W N WA

4

List -1
Four
Model
Critical
Minimum
Effort Thesis
Big Push
Theory
Theory of
Unlimited
Supply of
Labour

Codes :

(A)
(B)
©
D)

AW A -
N — AW

1

List -1
Food-grains
Production

Level of Prices 2.

Industrial
Growth
Fiscal
Indicators

Codes :

(A)
(B)
©
D)

N W WA —
[OSI NE N O !

3.
Surplus Value 4.

N W kN

Sector 1.

2.

3.

I

AW =N

1.

3.

4.

III
1
2
1
4

List - I1
Karl Marx
Adam
Smith
Schumpeter
Morris D.
Morris

List —II
Rosestein-
Rodan
Arthur
Lewis

Mahalanobis

Leibeistein

List — 11
Industrial
Sector
Revenue
deficit
Agricultural
Sector
Wholesale
Price Index

1Y%
3

1
2
1
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. 41 ¥ 50 A1 B G-I G GHferd i 43. —1 TR - 11
3 e f§21 T Pl F STIER T ST I L oY e 1. e TR
41. T -1 e - 11 1. AR e 2. e ey
L & & &R 1. o & Feh I TR A e 3. A
faama IV. 93 4. mRE S T
II. foaRor &1 dH| 2. |ES 3R Ah B
IAEHIT T9gid I II I Iv
A 1 4 2 3
1L T 1 e 3. FHAT T B 2 3 4 1
ASE © 1 2 3 4
IV.3/9adr & 4. T ® 4 3 2 1
fagma
%z 44. TR -1 TR - 11
I W&iﬁﬁ’q HI(\('I{C\‘{ 1. q9ET TSA
L v II. 3TEvgsh FAqT 2. 3R ogd
Aa 2 1 4 3 T T g
B) 3 2 4 1 III.%TE?T?G@'_VT 3. HeeHIed
© 1 4 3 2 Iv.aﬁa%aﬁgﬁw 4. wafe
@ 2 1 3 4 EEAR]
E T
1 =i =i 1 I I I IV
) & & A 4 3 2 1
[ T FIEHE 1. 21 TF gareHt @ 3 4 1 2
BRNIEE] © 4 1 3 2
L S emEs 2. 6 o @ 12 4 3
i 4 - -
5. ~1 ~II
III. ¥qfeid sSie T 3. TF IRy i "
. TR . oI 1T
IV. 7 Siag 4. ToeeT weia 111, sheifres gty 3. i
IV. TSI a6 4. o1 god
HT Tohd GIhih
I I I IV FT:
A) 3 4 1 2 I Im o 1Iv
B 4 3 2 1 A 4 2 1 3
B 3 4 2 1
© 2 4 1 3 © 3 4 1 2
®» 1 2 4 3 ™ 2 3 4 1
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46.

47.

48.

List -1 List — 11
I.  National 1. 2004
Agricultural Policy
II. Marine Fishing 2. 1978
Policy
III. New Foreign Trade 3. 2000
Policy
IV. Seventh Finance 4. 2004
Commission
Codes :
I I III v
A 2 1 3 4
B) 4 3 1 2
©) 1 4 2 3
D) 3 1 4 2
List -1 List — II
I.  GATT 1. Managing balance
of payments
II. IMF 2. Developmental
Finance
III. IBRD 3. Free Trade
IV. UNO 4. Maintenance of
peace among
nations
Codes :
I I III v
(A 2 1 4 3
(B) 3 1 2 4
(&) 3 1 4
D) 4 1 3 2
List -1 List — II
.  Adam Smith 1. Availability
doctrine
II. David 2. Factors
Ricardo endowment
III. Ohlin 3. Absolute
advantage
IV. LB. Kravis 4. Comparative
advantage
Codes :
I I III v
(A) 1 2 3 4
(B) 3 4 2 1
(&) 4 3 1
D) 4 3 1 2

49.

50.

List-1 List - 1I
I.  Simple 1. Equal
Random probability of
Sampling selection of an
item in a trial
II. Random 2. Equal
Sampling probability of
each item in
all trials
III. Stratified 3. Random
Random selection of
Sampling first and
systematic of
the rest
IV. Stratified 4. Random
Systematic choice of all
Random items from
Sampling each stratum
Codes :
I nm ua 1
A 1 2 3 4
B) 3 1 4 2
< 4 3 1 2
D) 2 1 4 3
List -1 List - 11
. IS-LM 1. Franko
Theory Modigliani
& Richard
Brumberg
II. Consumption 2. Lucas &
Ratchet Sargent
II. Life Cycle 3. Hicks and
Hypothesis Hanson
IV. Critics of 4. James
Keynesian Dussenbery
Economics
Codes :
I nm 1m 1v
A 3 4 1 2
B) 3 2 1 4
< 4 3 1 2
D) 1 3 4 2
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46.

47.

48.

e -1 e - 11
[ UE P i 1. 2004
Il 995 7o i 2. 1978
III. 7 faselt =R ifd - 3. 2000
IV. graat fodia s 4. 2004
E T
I I I Iv
A 2 1 3 4
B 4 3 1 2
© 1 4 2 3
™ 3 1 4 2
e -1 T - 11
[ Stwae 1. T 9
TE
1. 37 U9 Th 2. forepr fomr
I S &t RS 3. Tad AR
IV.g T a7 4. T & &
I S
LGAT
E T
I I I Iv
A 2 1 4 3
B 3 1 2 4
© 2 3 1 4
™ 4 1 3 2
e - 1 = - 11
I ueH fEy 1. SUcterdr fagra
II. Sfae Rerer 2. Hared fagerdr
II1. 3efer 3. FIge oy
IV. 3TE. &t o 4. JomTeTE oy
E T
I I I IV
A 1 2 3 4
B 3 4 2 1
© 2 4 3 1
™ 4 3 1 2

49.

50.

e -1 = - 11
[ G 1. T WIETT
PIEEE ] T TRl o T
Akt
T
I agfegsh Tg1 2. T wiewn |
o C e O
T T
I11. TR Agress 3. 79 T
T et 99T 9
TqAT 3 T AT
TS HIRUS &
3R
IV. @R gaared 4. Td% TR 9
e T T mE H
RIS CaCDE
£
I O 1 v
A 1 2 3 4
) 3 1 4 2
© 4 3 1 2
® 2 1 4 3
e -1 e - 11
I 3% U9 - T 1. Shel Aifsroram
T fagr 3R fea smert
I 30T e 2. I 3R 9eie
[11. STE--<sF FehedmT 3. & 3T &9
V.59 e 4, v feggeent
% STTATIH
E T
I O 1 v
A 3 4 1 2
) 3 2 1 4
© 4 3 1 2
M 1 3 4 2
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